Secondary 3 Mathematics

Congruent and Similar Triangles

Name:________________________ (        )

Date __________

Class:_________

1. State by which congruence criterion, the triangles in the following figures are congruent


(a)
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(b)
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(c)
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2. (a) Triangles ABC and DEF are similar. Calculate the value of x.

[image: image5.png]S

48



                      [image: image6.png]



(b) Are triangles PQR and XYZ similar? Explain your answer clearly.
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3. John wishes to determine the distance between two objects P and Q, but 

      
there is an obstacle between these two objects which prevents him from 

     
making a direct measurement.

     
He devises an ingenious way to overcome this difficulty. First, he fixes a 
pole at a convenient point O so that from O, both P and Q are visible. Then, he fixes another pole at the point S on the line PO (produced) such that PO ( SO. In a similar way, he fixes a third pole at the point R on the line QO (produced) such that QO ( RO. Then he measures RS and finds that RS ( 170 m. The figure given below represents the above information. 
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 Prove that the distance between the objects P and Q is also 170 m.
4. The diagonals of a trapezium ABCD intersect at O. AB is parallel to DC, 

    
AB ( 3 cm and DC ( 6 cm. 

(a) Show that triangles ABO and CDO are similar. 

(b) If CO ( 4 cm, find AO.
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5. In the figure, MR and NS are perpendicular to the line segment MN and 

   
MR ( NS. Prove that O is the mid point of line segments MN and RS
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6. In the given figure, (PQR ( (PRS. Prove that the triangles PQR and PRS are similar. If PR ( 8 cm, PS ( 4 cm, calculate PQ.

[image: image11.png]4o

aem




7. In the figure, MO ( NO, (POM ( (QON and (PNO ( (QMO. Prove that            

    
(PNO and (QMO are congruent and hence PO ( QO
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8. In the figure, PR ( PS and R and S are points on QT such that QR ( ST. 

   
Prove that PQ ( PT
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9. A tree of height 6 m casts a shadow of length 10 m. Find the height of a 

    
house casting a shadow 25 m long.

10. ABCD is a square. (BXC is an equilateral triangle.

(a) Prove that triangles ABX and DCX are congruent.

(b) Hence, show that (AXD is isosceles
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11. In the diagram MN is parallel to QR and PM : MQ ( 3 : 2
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(a) Find PM : PQ

(b) Prove that the triangle PMN is similar to triangle PQR and find  the ratio MN : QR

(c) Prove that the triangle MNO is similar to triangle ROQ.

      12.
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In the above figure, PQRS is a parallelogram.

PQ ( 16 cm, QR ( 10 cm

L is a point on PR such that RL : LP ( 2 : 3

QL produced meets RS at M and PS produced at N.

(i) Find PN

(ii) Evaluate RM as a fraction.
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